
PastrySampler’s Equivalency Table of Common Measures 

3 t  =1 T 1 T = 15 milliliters 
2 T  = 1/8 c  1 t = 5 milliliters 
4 T  = 1/4 c  
5 T + 1 t  = 1/3 c 2 oz = 1/4 c 
8 T  = 1/2 c 4 oz = 1/2 c 
10 T   = 5/8 c 8 oz = 1 c = 237 milliliters 
10 T + 2 t = 2/3 c 16 oz = 1 lb 
12 T  = 3/4 c 128 oz = 1 gallon 
14 T  = 7/8 c  
16 T  = 1 c 2 c  = 1 pint 
 2 pints = 1 quarts 

4 qts = 1 gallon 1 dry quart = 2 dry pints 
1 peck  =16 dry pints = 8 dry quarts 
1 bushel = 64 dry pints = 32 dry quarts = 4 pecks 
 
1 inch  = 2.54 centimeters 
12 inches = 1 foot 
3 feet  = 1 yard = 36 inches 
144 sq in = 1 sq ft 
9 sq ft  = 1 sq yd 
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